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Proliferation Security Initiative (PSI)
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Kenneth Waltz and neorealism
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1. Suppose a friend offers to flip a fair coin, with you paying your friend NT$500 if
it comes up heads and your friend paying you NT$500 if it comes up tails. Explain
why the expected dollar value is NT$0. Then explain why the expected utility
value is negative if you are risk-averse. (20%)

2. Some public goods are local, spilling out to residents of smal? areas; others are
‘national, benefiting an entire nations; some are global, affecting all nations. A
private good is one whose spillover is negligible. Give some examples of private
goods and of focal, national, and global public goods or externalities. For each,
indicate the level of government that could design relevant policies most
efficiently, and suggest one or two appropriate government actions that could
solve the externality. (20%)

3. What effect would the following have on the Lorenz curve of the after-tax income?

{Assume that the taxes are spent by the govemﬁent on a representative slice of
GDP)

a. A proportional income tax(i.e., one taxing all income at the same rate)

b. Aprogressive income tax(i.e., one taxing high income more heavily than low
incomes) ,

¢. A sharp increase in taxes on cigarettes and food

Draw four Lorenz curves to illustrate the original income distribution and the

income distribution after each ﬁcﬁon, a, b, and ¢. (20%) )

4. Assume that commercial banks have $ 100 billion of checkable deposits and $4
billion of value cash. Further assume that reserve requirements are 10 per cent of
checkable deposits. Assume that the public holds $200 billion of currency which
is always fixed, _Central~bank assets are entirely government securities.

a. Ceonstruct the balance sheets for the central bank and the banking system.
Make sure you include bank deposits with the central bank. '

" b. Now assume that the central bank decides to engage in an open-market
operation, selling $2 billion of government securitics to the public. Show the
new balance sheets. What has happened to M/[? _ '

¢, Finally, using the graphical apparatus of the monetary transmission
mechanism, show qualitatively the impact of the policy on equilibrium
money supply, interest rates, investment, and output. (20%)

5. “With zero population growth and no technological change, persistent capital
accumnulation would ultimately destroy the capitalist class.” Explain why such a
scenario might lead to a zero real interest rate and to a disappearance of profits,
(20%)
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(—) complex interdependence (-) underdevelopment
(=) poverty reduction (P9) modernization
(71) sustainable development
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(—) Organization chart
(=) SWOT
(=) Viral Marketing
(=3) Motivation factor
(%) balanced score card (BSC)
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(&) Corporate Social responsiblity(CRS)
(/) frist-mover advantage
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International Court of Justice (F153)

Corfu Channel Case (F1.57)

diplomatic asylum (A %3)

Rule of hot pursuit (H43)

methods of acquiring title to territory (FL53)
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